YEAR 5 NUMERACY - SET 10
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Lucy paid $3.35 for her lunch. Salad $2.80
What did she buy?
Sandwich $2.75
Water $2.00
Fruit 55¢
a sandwich and water
a sandwich and fruit
a salad and water
a salad and fruit
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Rick started at the dot.
He moved three squares west and two squares south and one square east.

Where is this on the grid?
F2 B2 C2 G2
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3 200 was divided by a number and the answer was 10.

What was the number?

4 A dinosaur stands 4.52 metres high.

What is this height in centimetres?

45.2 452 4520 45200

25x16=100x | ?

Which number makes this number sentence correct?
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YEAR 5 NUMERACY - SET 10

6 Rainfall at school in one week

10

Millimetres

Mon Tue Wed Thu Fri

Days of the week
A Year 5 class recorded the amount of rain that fell in five days.

They made a graph of the results.

How many millimetres of rain fell altogether?

millimetres

7 A club bought bottles of water for a fun run.
The 15 runners used 2 bottles of water each.
There were 6 bottles not used.

How many bottles did the club buy?

8  Which of these numbers is even and also a multiple of 3?

21 23 24 32
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